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Page 169: the last line of the proof in Example 1 should begin “λa′′.t′′′”. [Thanks
to Christine Tasson and Christian Urban for pointing this out.]

Page 180: equation (40) should read

(∀t : Term)(∀a : Var)( Na′ : Var)(∀t′ : Term) subst(t, a, lam(a′, t′))

= lam(a′, subst(t, a, t′)) (40)

[Thanks to James Cheney for pointing this out.]

Page 184: equation (59) should read

Subst(t, a, t′, t′′) ⇔

t′ = var(a) ∧ t′′ = t

∨ (∃a′ : Var) t′ = var(a′) ∧ ¬a′ = a ∧ t′′ = var(a′)
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[Thanks to Ondrej Rysavy for pointing this out.]

Page 191: axiom (A1) should read

(∀a, a′ : A)(∀x, x′ : S) a.x = a′.x′
⇔

(a = a′
∧ x = x′) ∨ (a′ # x ∧ x′ = (a a′) · x) (A1)

[Thanks to Christian Urban for pointing this out.]
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